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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you ----e-=-== to the next question, you should take some time to make sure
vou're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -~—--—-—- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemmnation 4) fiasco

3- We were very unhappy with the --——-- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -——----—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- 1 never thought you would get so upset about such a --—--- --- matter.
1) contradictory  2) consistent 3) colloguial 4} trivial

6- The police wondered about the man’s —-———-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to ---—-------
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- *“It is my firm --—---e-m—- o' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
"""""" dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—----- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants.
Selective herbicides kill specifie targets, (11) -------—- the desired crop relatively unharmed.

Some of these act by interfering with (12) =====me=nn and are ofien synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites. railways and railway
embankments are not selective (13) ————- - all plant material with which they come into

contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) ———-——-- as wildlife habitat.

Some plants produce natural herbicides. (15) - the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides, and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4)

that best answers each question. Then mark it on your answer sheet.

Passage 1

Any object (product, machine, or system) possesses characteristic properties. Some of these
propertics may be desired. but others may be more or less unwanted. The most important
property of all is the primary function of the product, because it is this that helps the user in his
need. The other desirable properties may be: pleasing appearance, ease of handling, safety.
durability and reliability.

Before the product is designed the required properties should be listed by the designer.
perhaps in collaboration with the user. During the design period when the produect is created. it
is these properties that determine the decisions and choices that are made.

Unfortunately one cannot design a product in such a way that the desired propertics are
determined one afier the other, for they are not independent variables. We find. however, that
five propertics can be distinguished from all others. in that together they completely define
the product. They are:

For the product as a whole: Structure (i.¢. the elements of the product and their relationship)
For each element: Form — Material — Dimension - Surface

These five properties are the basic properties. It is important to emphasize that these are the
variables which the designer can manipulate, and it is by successively deciding on these that a
product is created. Thus all the other properties. desirable as well as undesirable. are derived
from the basic properties.

16- What does the passage mainly discuss?

1) Ways to pinpoint the features of a finished product

2) What needs to be heeded before a design work begins

3) Product general features as opposed to produet specific features

4) What happens if product properties are ignored in the design stage

17- To find out the properties of a product, the designer --------- ;

1) should determine the desired properties based on their fixed pattern

2) first needs to list some. 1 not all, desirable properties of the product

3) may need to seek the opinion of those for whom the product is to be designed

4) should make and evaluate certain technical decisions and choices with the help of the user

18- All of the following are mentioned as a product's hasic property EXCEPT «--eevee-- .
1) durability 2) material 3) dimension 4) surface
19- The word "together" in paragraph 3 refers to -—-—-—- :

1) the designer and the user

2) independent variables

3) desired products listed one after the other

4) structure, form ,material , dimension , surface
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20- The passage supports all of the following statements EXCEPT that -—----—--- 5

1) there are certain features that can be used to define the product to be designed

2) it 1s only desired properties that the five basic properties yield

3) of all characteristic properties of a product. the primary function of the product is the most
significant

4) a product cannot be designed without ascertaining whether all the desired properties are
determined one after the other

Passage 2

The user naturally demands certain things of the product. One of the most fundamental of these
is that the product must be simple to use. i.e. that its use must be easy and uncomplicated with
the least possible mental and physical effort.

In order to take adequate account of such requirements the designer must acquire — or at
least be able to find—information on the dimensions, senses. perception, muscular
performance, tiredness, etc of the human body. If there are special categories of users, such as
handicapped people. children. ete. special attention must be given to this information. [t is  the
designer's job to utilize this knowledge together with a general appreciation of the interplay
between man and the machine (which is covered in ergonomics), so that the product is
designed as suitably as possible. I a designer overlooks this very important background
knowledge the result is often a product that may be cither difficult to use, or gives a bad
working posture (and resulting in back trouble). or that may hold risks of wrong operation, etc.
An example 1s shown in Figure 117. Here the design of the lathe is such that an operator with
normal body dimensions cannot avoid an unreasonable posture. which puts a great strain on his
back.

21- What the passage includes is concerned with what a designer needs to know in order
to plan a product that ---=—----- ;
1) is congruous with the demand of nature
2) would actually have a simple internal structure
3) would not bother the user unnecessarily for its use
4) can be manipulated by multiple users simultaneously
22-According to the passage, specific information about the human body should specially
be heeded if the designer -------- -,
1) is concerned with people such as children or those with a handicap
2) wants to design something that would not require any mental or physical effort on the part of
the user
3) is not drawing on some preparatory work already done by experts in the field of ergonomics
4) receives complaints from certain special people who face difficulty using the machines that
are primarily intended to be automatic
23- Reference is made to Figure 117 in order to -==e=-eee- :
1) initiate a new thesis
2) support an earlier assertion
3) prove how hard designers work
4) highlight the role of human postures in handling machines

24- The word "overlook™ in paragraph 2 is closest in meaning to ---------- .
1) confront 2) pursue 3) accumulate 4) disregard
25- The tone of the passage can best be desceribed as --—-—-- -

1) defiant 2) instructive

3) skeptical and questioning 4) critical and demanding
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Passage 3

Concept generation, which is when a product development team comes up with the ideas. is the
most critical step in the engineering design process — without it. there is no design. A concept
can be defined as both an “approximate description of the technology, working principles, and
form of the product™ as well as a “concise description of how the product will satisfy customer
needs” (Ulrich & Eppinger. 2012). Concept generation is a procedure that begins with a set of
customer needs and target specifications and results in an array of product concept design
alternatives from which a final design will be selected. This step requires a more abstract style
of thinking than perhaps most engineers are used to. As Einstein and Infeld (1938) wrote in
The Evolution of Physics, the “formulation of a problem is often more essential than its
solution, which may be merely a matter of mathematical or experimental skill. To raise new
questions. new possibilities, to regard old problems from a new angle, requires creative
imagination and marks real advance in science.” While many have proposed their own specific
theories. approaches. and metrics regarding concept development and, in particular, generation.
there are a few general guidelines and postulates that are echoed in each specific method. The
common theme; patience and open-mindedness are vital to successtul concept generation.

The invention of the light bulb highlights the importance of the concept generation process.
Famous inventor Thomas Edison once said. “None of my inventions came by accident. | see a
worthwhile need to be met and [ make trial after trial until it comes. What it boils down to is 1
percent inspiration and 99 percent perspiration” (Newton, 1989), Edison understood that trying
a large quantity of ideas was extremely important, because failure is inevitable. Before finding
a stable material for the first successful light bulb. his lab tried and failed with thousands of
different filaments (Zenios. et al.. 2010). Obviously. the concept that was settled on stuck.
because well over 100 years later. commercially available light bulbs are omnipresent.

26- Which of the following best describes the organization of the passage?

1) An statement is made and qualifications of it are provided.

2) A prognosis is made and evidence supporting it is discussed.

3) A phenomenon 15 explained and further supported by illustration.

4) An assertion is made, briefly explained, and then several examples that refute the assertion
are given.

27- According to the passage, concept generation procedure begins with -————--.

1) the formation of a product development team

2) the detection of the appropriate technology

3) a visualization of the specification of the target product

4) an identification of the needs of the beneficiaries of the final product

28- The word "which" in paragraph 1 refers to ---------- .

1) specifications 2) alternatives 3) concepts 4) customer needs

29- It can be understood from paragraph 2 that Edison -—--— -

1) performed many experiments before he could finally arrive at what he had in mind

2) cannot be truly named as the person who managed to come up with the concept of the light
bulb

3) was an exception in that he was able to invent the light bulb without undergoing the process
of concept generation

4) was lucky enough to envision products without efforts. which is what makes him
outstanding in the annals of technology

30- The word "inevitable" in paragraph 2 is closest in meaning to -———-—--,
1) unpalatable 2) unattainable 3) unavoidable 4) unknowable
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